(s i)

(1) 3 ¥xBEEK
f(x) =az® +ba® +cx +d
WZOWT, a=1,b=0,¢c=-3,d=00DL&E, y=2°>—-3x DI I 7IEFFHD LS

5,

-2 y=a>— 3z

f(z) = ax® + ba® + cx +d (a #0)

f'(x) = 3ax* + 2bx + ¢
f(z) IZMfEZEDDT, f(x) =0 DERLDZ2DDOEHEE o, B B L, 25 (a, f(a)),
(B, £(B)) DI AUZK L THFRZRD T,

a+ﬁ:—§§:o (@#0) &b b=0

ThD, 512, AP+ =(a+pf)(a®—aB+52) &
fl@)+fB)=a(@@+8)+b(®+ ) +cla+p)+d

—d=0 (a+B8=0b=0%{KALL)

£oT, REzAT f(r) &
f(x)=az’+cx (a+#0)

LD, LihioT,
f(=2) = —az’ — cx = —f(x)

0, WBEPFERIZBEUTHRTHELE, y=f(z) DT I 7HEMTEL THIETH
5 Wb, ]



(s i)

Cy |Cs | Cy

(1) G8IE S — A ORI

(2) GEIE S — B ORI,

(1) S5 C 2RHELT B ~17<

(2] SH5 Cy 2AHLT, Cs, Cy 2RAETIZ B A1FL
(3) SH5 C3 ZRHELT, C, ZREETIT B ~f7<
(4] S»56 Cy ZRHL T B ~N7<

A DODGEDHERDOM ZROINIZTE L,
1\* 1\* 1\° 1\ 21
(3) +o () nelz) =) -2
(3) JEIES — A — B ORI, (1) DFERELD
3 1\° 1\° 3
g{(?) ﬂCi(?) }_E
4) ()25 (3) OFER KD, RdDHERIX

3 21 3 5
- (- ) ==
8 32 16) 32



(s i)

(1) =ABEBOME L IEEE LV,
tan C' = tan{m — (A + B)}

= —tan(A + B)

B tan A 4 tan B
1—tan Atan B

Iz 5L,

tanA +tan B +tanC =tan Atan BtanC O

2) ASBZC &,

T—A+B+C>34 ko<, 0<A§%

L7=D3- T, tanO<tanA§tan% b, 0<tanA<V3 TH5,
(3) (2) DFERELD, tanA=1¢,%45, £oT, (1) DFRLD,
1+ tan B+ tanC = tan Btan C'
(tan B —1)(tanC' — 1) =2
B, C 387D T, tanB <tanC &9, tanB =2, tanC =3 275, DLE&D,

tanA=1, tanB =2, tanC =3



